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1) ROFEAZEZMELGS, (2R X108)

1 %x2+gx=0 2) x°—8x+12=0
3) 2x°+24x+72=0 4) x°—28x+196=0
2 2
5) 2x —32=0 6) x +4x—8=0
2 2
7) 6x —2x—1=0 8) —x —9x=-6

9) —3x"+12x—6=0 10) x(x—2)—4(x+1)=0
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2) ROFEXZMEGSL, (2R X10%8)

1 2x°+10x=0 2) %xz—zx—§=o

3) x +26x+169=0 4) x°—38x+361=0
2 2

5) 3x —147=0 6) x +5x—8=0
2 2

7) 8x +15x—2=0 8) 2x +3x=7

9) 1.2x°+0. 4x=0. 2 10) (x+5)°—3(x+5)=0
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1) x(x—6)=—3x 2) x>—11x—26=0

3) x +34x+289=0 4) 2x°—60x+450=0

5) —d4x +324=0 6) 0.4x —3.2x+1.6=0
7) 1.8x +0.6x—1=0 8) —2.4x°—0.6x=—3
9 2x*+3x—1=0 10)  (x—2)°=3(x"—3)
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5)
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x(x—2)=—8x

x2+2x+1=0

1 2

-x —18=0

2 1_
—2x —4x—5;=0

—4x” +2x+8=0

B
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2) 2x°—6x—8=0

4) x'—4x+4=0

6) Lx°—x—2=0

10) 2(x+1)(x—2)=3(x+2)
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5) ROFEAZEMERSL, (2R X10%)

1) 2x°—18x=6x 2) 3x +30x+72=0
3) X +8x+16=0 4) x°—6x+9=0
5) —0.01x +0. 64=0 6) x +12x—12=0
7) 7x° +x—3=0 8) ox’—4x=5

9) —14x°+28x+49=0 10) —3(x—5)(x+2)=6(x—4)
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1) x=0, —4 2) x=6, 2 3) x=—6 4) x=14

H

1i\/; -9+ [10
5) x==x4 6) x=—2+2 (3 7) x= 8) x=

6 2
9) x=—2¢\/; 10) x=3i\/§

2) KE—RE (2R X108 A =]
1) x=0, =5 2) x=9, =5 3) x=—13 4) x=19

-5+ [57 -3+ (65
5) x==%x7 6) x= ‘F 7) x=—2,l 8) x= \F

2 8 4
-1+ |7
9) x= 6‘[ 10) x=-2, =5
3) KE—RE (2R X108) A =]

1) x=0, 3 2) x=13, —2 3) x=-17 4) x=15

-1+ (21
5) x=+9 6) x=412\/; 7) x= ( 8) x=1, —

6 4
-2+ |30
9) x=—1,§ 10) x= [
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4) KE—#RE (2R X108 A =|
1) x=0, —6 2) x=4, —1 3) x=-—1 4) x=2

3t (33 -21 [3 3+ (129
5) x=x6 6) x= ‘F D x=—‘f 8) x=——

2 2 10
1+ /33 5+ 105
9) x=+‘—4F 10) x=i47
5) SE—ME (25 x108) A g

1) x=0, 12 2) x=—6, —4 3) x=—4 4) x=3

-1+

14

Bl

5) x==%8 6) x=—6*+4 |3 7) x=

1+ |73
9 x=1i\/; 10) x= ‘F

2

-1 2
8) x=1, 5




